" MATI033/MAC1105 — Test 4 Name
Calculator Allowed: You may use your calculator on this part of the test. Show all necessary
work for full credit.

1. Given (-1, 7) and (5, -2), find:
% A) The ‘midpoint between the two points.
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2. Perform the indicated operatlon and simplify. ~
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3. Solve the equation algebraically. Show your work.
2, A) (x+2)7 - 11 = 16
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4. If you are flying in an airplane at an altitude of h miles, on a clear day you can see a distance
of d miles to the horizon, where d =+/7920h .

2 A) At what altitude will you be able to see for a distance of 215 miles?
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2 B) If you are 2 miles high, how far can you see to the horizon?
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6. Divide using synthetic division: (5x* +2x —9) + (x - 2)
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MATI1033/MAC1105 - Test 4 Name
No Calculator Allowed: You may not use your calculator on this part of the test. Show all
necessary work for full credit.

l 1. Find each of 'jhe following.
X = 5.3
Aj 5= A =l osr=_4

D) 8= L E) 92=_ 2] F @B1)=_23I

¥ 2. Rewrite n” without negative exponents. 4
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7 3. Rewrite 25 using negative exponents.
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7 4. Write (2d)** using radical notation. __\| (27 )
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7% 5. Rewrite T using rational exponents. X

6. Simplify.
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7. Identify whether 11x>— 7x is a monomial, binomial, or trinomial. b 1?/7 DU &.[f"

8. What is the degree of 11x°® — 7x> — 9x? { D

9. What is the degree of 5x%y?? 2 What is the coefficient of 5xy2? 5

— e

10. Ist+24t3 a polynomial? Why or why not?
No ne g ochve  exoeverds

3 2o
11. Subtract: (17x%y — 5x% + 9y) — (4x3y + 13x% — 8y) | 3% y — }(S))( )/

12. Multiply and simplify: (5t+ 1)(2t - 3) it~ i5E—3

13. Multiply: 3m?n*(2m’n? — 7mn’) lom n_ -20m A
S A | = |

14, Divide: 20> =1 28+08 3rS -Yr+ L
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16. Subtract: (13 —4i)— (10 + 2i) 3 =t
17. Multiply: (3 +4i)(1 +2i) . - S +/0L
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- MAT1033/MAC1105 — Test 4 Name

Calculator Allowed: You may use your calculator on this part of the test. Show all necessary
work for full credit.

1. Given (1, 9) and (5, -2), find:
3 A) The midpoint between the two points.

(ﬂ—&“ C}f-(l}) 8)25

" B) The distance between the two points.
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2. Perform the indicated operatlon and simplify.
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3. Solve the equation algebraically. Show your work.
A) x+4)3-9=16

2 B) 5+2V2x+3 =11
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4. If you are flying in an airplane at an altitude of h miles, on a clear day you can see a distance

of d miles to the horizon, where d =V 7920h .
A) At what altitude will you be able to see for a distance of 175 miles?

)75 = J7%20h
20025 = 7920h
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B) If you are 3 miles high, how far can you see to the horizon?

= 79202 =59./¢

5. Divide using long division: (x*>—3x*+4x+7)+ (x +2)
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6. Divide using synthetic division: (4x*>+2x—11)+ (x—3)

i el
=5 i qL TR LRV
L ED

t./ ,



MAT1033/MAC1105 - Test 4 Name

No Calculator Allowed: You may not use your calculator on this part of the test. Show all
necessary work for full credit.

1. Find each of the following.

({0 b} x5y3 0
A) 62=_ 30 B) () =_| C) 100"=_|O
D) E) 16=_ (o4 F) @of=_)9
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2 2. Rewrite t”7 without negative exponents. 7 B
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2 3. Rewrite ~e using negative exponents. Sd
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2 4. Write (3b)” using radical notation.
) -S)a
7. 5. Rewrite o= using rational exponents. X
X

6. Simplify.
12

9 -5 1S
2 A) 7:1_8: M A B) @7)°=_4 Z,)

o e S 2b \?
30 mptey)=35% Y ;) (&) =_4b

= =7 4 ~) 5‘ - .
3E) YPRE-_q h > ) V2a® =X U5X

53 b T S L Jre i 2.>V
3G) /x7y12= ;;, J X H) 5xT DA JX



| 7. Identify whether 11x> — 7x + 6 is a monomial, binomial, or trinomial. “}74 70Nt &j

| 8. What is the degree of 11x° — 7x% — 9x? 5
%9, What is the degree of 11x"y?? 9 What is the coefficient of 11x7y?? | ’

3 10. Ist?+ 24t apolynomial? Why or why not?

DL A
)\JO. N egofﬁ'ﬂﬁ ;L:)r:"%"f CALEAA

L i
11. Subtract: (7x%y —5x> + 11y) — (@x’y + 13x> - 8y) . 3 XY - & X +)
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= 12. Multiply and simplify: (4t + 5)(2t - 3)

2 13. Multiply: 3m’n*(2m°n’® - 7mn°) ({) m n —Xlm¢ J
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9 15. Simplify: =64 5L
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2 16. Subtract: (9 — 4i)— (-10 + 2i) 19 —bL

3 17. Multiply: (3 +4i)(1 +2i) . - X S +)0 ¢

5 ot AL

'7 ‘7 °
) A T — (L
318, Divides 2o « & 13 13
+31 o



